Farm Stand Mass -yibs

ACADEMY

Solve the word problems and trace the line to the correct answer.

" Peter and his sister went to
pick pumpkins for Halloween.

Peter picked a pumpkin that
weighed 28 pounds. His sister
picked a pumpkin that was

15 pounds less that
Peter’'s pumpkin. How
heavy is his
sister's pumpkin?

Claire bought a small bag

of apples that weighed

24 \ 12 ounces. Her friend 36
bought a large bag of apples

that weighed 3 times

as much. How much

/‘/ﬁ did the large bag
of apples weigh?
Heidi brought her kids to
a local strawberry picking
farm. The cost of strawberries
40 depends on how much they 5
weigh. Heidi picked 3 eight-
Oounce cartons of strawberries, m
and her 2 kids each filled

1 eight-ounce box. How
@a many ounces of strawberries
did they pay for?
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